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GEOGRAPHY
[PROGRAMME]
Discipline Specific Elective (DSE)
Course Code : GEOG-DSE-T-01/A&B
(New Syllabus Under CBCS)

Full Marks : 60 Time : 24 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.
Answer all the questions from selected Option.

OPTION-A
GEOG-DSE-T-01/A
(Geography of India)
1. Answer any ten from the following: 2x10=20

@I i dria Ted wie ¢

a) Name two automobile industry centres of India.

ISR 70 SHIIAIRE Mapems 1N (@7 |

b) Define sex ratio.

forst SIoited kel Wi |

c) Name two main rice-producing states in India.

SIS 4o 2 4 TV ST I (+74 |

[Turn over]

d) Identify two problems of groundnut cultivation

in India.

SIS SHRME B 96 TP SrEe 9|
e) Define female literacy rate.

IR APPSO AT 7E |
f) Name any two rain-fed rivers in India.

RS @ o I S o7 A A @ |

g) Which type of climatic conditions are required

for surgarcane cultivation?
Y BIEE &l 1 LR G SIS 272
h) Name main types of coal found in India.

OITeAE A T A gaesfera T @19 |

i) Identify two main bauxite producing areas of

India.

ISR 6 @i TG TeoAms Szee Hfere 791
j)  Which are the main cattle reared in India?

eI gyiwe (I oIlw o Alfere 22

k) Identify two problems of fisheries in coastal

India.
Tt CIRocd NGRS 76 ey bz 5

1) Name two hydroelectricity producing centres of

India.

CReAd Ut Ty ol (@ qIN @74 |
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Which are the main west-flowing rivers in India?

IR @i AMRGIA Tl e 2

n) Identify the main rail zones of India.
SIS 2 (Fe TeErafer e w9
0) What do you mean by population density?
G A F (R
2. Answer any four questions: 5%x4=20

@-CFI oAb A e wie ¢

a)

b)

d)
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Mention the geographical location of India.

RS CSANfEE S T 9|

Identify the climatic regions of India.

SRS TRy Seafe] e 41

Discuss briefly the future prospects of

automobile industries in India.

OIS SGIERIEE HiEa ok e [
MIGIFRIESH

Identify the main features of literacy in India.

SRR AR Y6 @Yl bire w1

Mention the problems of road transportation in

India.

SRS ATH AR Tl S 391

[Turn over]

3. Answer any two questions:

Find out the reasons behind the concentration of

iron-steel industries in Chotonagpur Plateau.

@IGIooF WeTefire Te-2™ie R SEeE
Flrerefe Hizs w4

10x2=20

@I 7fB A T wie ¢

a)

b)

d)

Discuss the problems and prospects of cotton

textile industry in India.

SIS I IR TP 8 HSIR FT=ATE S
9|

Briefly discuss the relief fetures of India with

suitable diagrams.

SRR T B-aiFfes (AREef Soye Hapig Fewce!
SCTH < |

[lustrate the population size and growth in India
since 1901.

SIS 1901 A (A GePIRAE S € Jia i
<4

Describe the settlement types and patterns in rural

India.

AN IO GePifed 49+ € 2AfBalE qefda w4
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OPTION-B
GEOG-DSE-T-01/B
(Economic Geography)

1. Answer any ten from the following: 2x10=20

@I i dria Ted wie ¢

a)

b)
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What is meant by ubiquitous types of raw

materials?

HEEHTE) FI6l el FEICe (IR 2

What is 'Rudimentary Sedentary Tillage'?
'Rudimentary Sendentary Tillage' 2

Define 'Material Index'.

'Material Index'-9s es| wiS |

What are the significances of sacred groves?
Sacred groves-43 wieo 2

Differentiate tertiary from quaternary economic

activities.

Quaternary economic activities (U(F tertiary

economic activities 2N -7 |

Write down two characteristics of the subsistence

agriculture.

2906 PR 7T 4o @Y @14

[Turn over]

g)

h)

1)

k)

D)

What are the economic significances of crop

rotation?

TS Lo g 59

What is meant by monopolistic competition?

oA afswifet T e F @R e

What is nomadic herding?

TRE Ao 2

What is 'slash and burn' process of agriculture?

FRFIE TIZ© slash @R burn @3 ¥ simfe Fie

Give an example of foot loosing industry.

Foot loose @@ s Twizge wie |
What is JFM?

JFM e

Name two significant petrochemical hubs in West

Bengal.
ARSI sl g CAGICRRRAIe Misiees a7 I
@4

Give two examples of pelagic fish.

Pelagic fish-43 4 Swize wie |

Give an example of pure non-weight losing type

of raw material.

b @ ©IF ZIE FIBWIETE Srizd wie |
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2. Answer any four questions: 5x4=20

@-CFI oAb A e wie ¢

a)

b)

d)
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Discuss the salient features of shifting cultivation
with special reference to North-East India.

Ceg-I< SIS NS BRI 2w (a3 SIiceTbel
|

Discuss the future prospect of petrochemical

industries in India.

SRS (IGIERRE M- 3 k@ T=IF @14

Justify the relevance of economic geography in
the present day context.

o it Afcafere wdE@fes  salEr
APl SNCETbal 54 |

Diagrammatically illustrate the modification of
Von Thunen's model in presence of navigable river
and neighbouring market.

T sAfzaaoy 97 @3 2AE] AeiEE Sofiore
O YR WS AAfTae fog Tzt adfa |

Discuss the various modes of transportation.
sAfaeera e s@fs T=iF el |

Explain the role of transportation cost in the

industrial location theory of Alfred Weber.

SERFS SRR W5l Sl ©rg A2 LH0H S
ARG 9|

[Turn over]

3. Answer any two questions:

10x2=20

@I 7fB A T wie ¢

a)

b)

d)

Specify the factors responsible for the

occurrence of cotton textile industry in India.

IACe el 41l 90T €I Ty TAINN Fraelel Trae
A |

Discuss the salient features of plantation farming

with suitable examples.

Toe SriReTz Aifast FRE 4 @Eraf SiEnl

4|

Describe the main characteristics of any two
major commercial marine fishing zone of the

world?

AT @@ q adiw Afdfers ANus SomR
CHRGaR 3 Ao el wie |

Discuss the impact of Information and

Communication technology on human society.

R Aereld Toig w2y € @il afe Fiem aox
I B4 |
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